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No. of Questions : 160

w9 @ €A : 150 |
Time : 2 Hours Full Marks : 450
o9q - 2 U2 quriE : 450

Note : (1) Attempt as many guestions as you can. Each question carries 3
(Three) marks. One mark wiil be decducted for each incorrect
answer. Zero mark will be awarded for each unattempted

gquestion.

Siftrfies ugHt @ s HIA P TG HL 1 FhF g9 3 ()
SiEt W B FeE ToT g7 B T g% o e WA
e T 959 FH WIEiE . T

{2) [f more than one alternative answers seem o he approximate to
the correct answer, choase the closest one.

Ify apfeer Yefeas IO 98 SO< & (e s 8, o e
el 3aT 2

01. Which of the following is net an inner planet ?

(1)  Jupiter (2) Mars

(3) Venus (4) Mercury
Prefafga & & &9 Faes e TE 2 7

(1) FEES @2 He

(3) IH (4] 99

02. Out of the following, mark the 'ringed planet :

(1} Uranus (2) Pluto

(3) Saturn (4) Neptune

3 P.T.O.
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03.

e & § ‘aea oe @ Riftea R
(1)  3r=or 2) FA
(3) o= (4) TV

Who propounded the ‘Inter stellar Dust Hypothesis' for the origin of
solar system ? -

(1) Littleton (2) Otto Schmidt

(3) Hoyle (4) A.C Banerji
ﬁrﬁma@rmﬁ?{%%ﬂﬁ?ﬂ%‘w%qﬁw’
(1) ﬁiﬁﬁ"*‘r. {2y 3T 3He

(3) ®BEw (4} w.TY. s=sh

Who is considered to be the real profounder of the idea of Continental
Drift ?

(1) Arthur Holmes | (2) F.B. Taylor

(3} Bullard (4) Alf_rcd Wegener
mﬁmﬁﬁmmmﬁmmﬁﬁwm??
(1) amdy &g 2) um.&t. 29T

(3) goms (4} HEHE T

Explaining the concept of [sostacy, who said P

'Bigger the column, lesser the density ; Smaller the column, greater
the density’

(1) Sir George Airy (2) J.H. Pratt
(3) J.F. Hayford (4) W. Bowie

Wmﬁgﬁﬁﬂﬁﬂmﬂaﬁm@rﬁaaﬁﬁg.ﬁmﬁw

IO & e’ i

(1) | ogd (2) .09, 9T
(3) .o®. FHE (4} s=g. [t
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06. Name the 'Light House of Mediterranean’ :

o7.

08,

09,

(1} Etna (2) Visuvius

{3) Stramboli (4} Mount Kilminjaro
TRETETR & Y @ H A AR

(1) @& _ (2) RgEad

(3]  EErEE @) =r3ve Rt
Where did the massive earth qurake occur on January 26, 2001
(1} Koyana (2) Bhuj

(3} Latur-Kilari (4) Chamoli

TR 26, 2001 W ATY THT FH AT 917

(1) <Rl (2) g9

(3) wg-TRaT (4) =EA

Black forest belangs to the group of mountains ;
(1) Folded mountains

(2) Mountains of accumulation

(3) Bilock mountains

{4) Residual mountains

B pieE wE @ g ot § a8 7

(1) afere gdb= (2) wTuda gEd

(3] vt /v Td (4) orafaTe TE

Name the pmpnunde.lr of the geosyn clind orogen hypothesis !

(1) Jolly (2) Kober |
(3] Suess (4) Daly

- ad i ST & gfegrEes o AE TRy
(1) iR 2) e

(3) FuH (4) @

5 . PbT 101
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10.

11.

12,

13.

Which one of the following is the highest plateau ?

(1} Patagonia (2) Ozark

(3) Tibet (4) Mexico
F=ffaga # 9 9 999 S qerc 2 ?

(1) Serifrar (2) AT

3) =g (4) Afagey

Tista Flood Plain constitutes the partof ;

(1) Upper Ganga Plain (2) Lower Ganga Plain
(3} Middle Ganga Plain {4) Upper Assam Valley
FeretT Ag-AS fFeemT wARTfemr & 7

(1) T8 T A5 (2) P i fam
(3) He=m W B (4) HIE 3 9H grdr
Mark out the location of Titicaca lake : -

(1) South America {2} North America
(3} Africa (4] Eurcpe
e e ot smafeafy fafe Er%i“t‘ﬂi’r :

(1) =f&oft @ (2) T it
(3) TR 4y g9

Which one is the deepest lake ?

(1) Tanganica (2) Caspian Sea

(3) Baika! lake {4) Nvasa
TGS Tedt e & 2

(1) Zmives (2) ®fggs gErT
(3) AP e (4) =grEr
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14. Which of the following rivers flows in a rift valley ?

1S.

16.

17.

(1} Danube (2) Rhine

(3] Volga (4) Thames

ey qi2dt # @ B I @E ¥ fy S B 7
(1) &= 2) TEA

(3) e (4) 4

Which one of the following is an agent of chemical weathering ?
(1} Frost (2) Oxygen

(3) Temperature (4) Wind
Prefefag § @ F UAERRE STIE FH OERE § 7
(1) garT (2) SteRaeT

(3) 9 {4y 994

Brahmaputra river is a good example of :
(1} Consequent drainage pattern

(2) Subsequent drainage pattern

(3) Antecedent drainage pattern

(4) Superimposed drainage pattern

TG A& s SeTEds W U ST JEEL §
(1) ITgaeh (2) o

(3) et (4) ST

Grand caniyan is an erosional topography by :

(1} Wind {2) River

(3) Underground water (4) Glacier

(4 P.T.O.
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I BEET TH AUTHS e ¥
(1) 9991 @ra &g 2y = gro e
(3) gﬁﬂaa_ra AR (4) Rl

1B. Nile river delta is a specific example of :

(1) Arcuate delta (2) Truncated Delta
(3] Bird foot delta : (4) Estuarine delta
A 78 W e o fafere e §
{1) "N 3T HI (2) wfEea e &
(3) GTERIT BeT & (4) SAREEHET e H
19. Who advanced the concept of Panplanation ?
(1) Walter Penk (2) W.M. Davis ,
(3} C.H. Crickmay {(4) Wooldrige/Morgan
Y=’ (Hae) A wwme @Y RS O gerEr
(1) Fwer 9% (2) z=g.uH. ag
(3) #roa. faed 4) gERer Are
20. Which one of the following is an erosional land form by wind ?
(1) Yardung (2) Sanddunes
(3) Ripple mark (4) Sand drift .
Frafafere 5 & @ 99 @ ARl s wETpia & 7
(1] dET (2) ATFH w9
(3) SR faew (4) e (=)

21. Land forms of arid flurial erosion are :

{1} Blow-out Depressions (2] Mushroom rocks
(3) Earth Pillars (Demoiselles) (4) Mesa & Buthe



22.

23.

15P/207/30

R AIEA & J-Tpiadt 2

(1) STt (2) BT

(3) g-&FH (4) wEr o g
Depositional Karst tapography is :

(1} Lapies (2) Polje

(3) Uvala {(4) <Cave pillars
Ffares e TeTphy @ |

(1) ordie (2) S (I9TETS)
(3) FaTE (WEES) (4) TR TR
'Nunatak' is a land form 'crcated by -

(1) Underground water (2) Glacier

(3) river {4) Periglacial processes
TATER” T ooeeeneninenis ZIT Fafda g-smghy 8

(1) PR ST (2 Tt

(3) & (4) 9IRFEET W
Mark out the location of Merina Beach :

(1} Mumbai Coast {2} Chennai Coast
(3) Goa Coast (4] Kerala Coast
e gRT % sraRaRy fafe SR

(1) F=F e (2) =18 @€

(3) M T2 (4] S G

9 P.T.O.



15P/207/30

25, Hypsometric curve demonstrates :
(1} Height of the land
(2) Depth of Oceans
(3) Height of the land & depth of Oceans
(4) Extent of the land and Oceans
Feaefda g% T & ¢
(1) = & T H
(2) HETERTE #H Teqs FHi
(3) e & FAE UFd AEMEHT Y TEad i
(4} TS od WETEFTI B R @

26. The deepest oceanic deep is :

{1) Sunda (2} Qurile

(3) Partorico (4) Marnana
99 B0 Hermrriy g ¥ o

(1) Hgo=1 (2) I
(3) qrefivest (4) AT

27. The time period of the Challenger Expedition was :

TR HTHYE 3 TaaEr of
(1} 1850-54 (2) 1872-76
(3) 1890-94 (4) 1901-1908

28. The highest amount of salinity is found in :
(i) Arctic Sea (2) China Sea
(3) Red Sea (4) Japan Sea

10



29.

30.

3l1.

15P/207/30

Taiiaes Fgoar 98 A B oo .
(1) SATReH |/ H (2} &9 aER H
(3) @ '@FR H (4) SO \/ETE H

Which one of the following is deep oceanic deposits ?

(1) Silt (2} Sand
(3} diatom ooze (4} Gravel
R & & @ ey wug s B 7

(1) Faee 2) I

(3] BIgeR Hat (4) =T

Who propounded the staticnary wave theory of the origin of tides ?

(1] Newton (2) R.A. Harris .

{3} Laplas (4) W. Whewell

-T2 It F igs o faera Bes giaiea B v
(1) =ge#t (2) aA1¢.q. BRW

(3) T j4) S, &S

Humboldt cold oceanic current flows along the coast of :

(1) Peru (2) Brazil

(3) Mexico (4) Argentina
gliee U] TFTHH T ..oveee .. .... @2 & gaIt et § -
(1) 9= (2] ®THIA

(3) =it (4] STATe

11 P.T.O.
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32.

33.

The maximum height of tropopause on the Equator is about :

(1) 20-21 km (2) 25-26 km

(3) 17-18 km (4) 10-11 km
gmmwﬂmiﬁwmmm}aﬁeﬁwmﬁ
(1) 20-21 f&Hh, (2) 25-26 M.

(3) 17-18 f3pedt, (4) 10-11 5.

Which of the following statement is wrong ?

(1} Temperature of Earth's Surface is 5700°C

(2] Diametre of the Sun is 1382400 kms.

(3] Light travels at the rate of 297600 km. per second

(4) Earth receives only 1/2,000,00,000 part of sun's radiation

T Feel J | $ e & 7

(1) 94 & @8 &1 amgae 5700°Fc 2

(2) g 1 =19 1382400 FEd B

() §& wHwwr #H Ry 297600 Ff ofr Aes B

(4) 9=t gAY | FET 1/200000000d wET & v et B

Which one is 'Horse Latitudes ?

(1] Polar Highs

(2) Sub tropical High pressure Belt
(3) Sub Polar Low pressure belt

{4} Equatorial Low pressure belt

‘AT A P ® P

(1) 439 I arg =9 &=

(2) I FHeardn gegam ¥
(3) SYgd™ P &
@) eRET Frerm @)

12



35.

36.

37.

15P/207/30

'Ferrel's law' explains :

(1) Pattern of wind direction in Northern & Southern hemispheres
(2) Pattern of wind direction in North Hemispheres

(3) Pattern of wind direction in S8outh Hemispheres

(4) Relative locations of lows and highs in both- hemispheres

‘@Y & g et &l @

(1) rd ug gferely remal § 9ae & fesm @ ufsw
(2) Serdl WMerE # gae #®W R o girey

(3) afEeft Mot F ggw e Rem @ Afersy

(4) AT NemEl & e od e arg s B ANEE Raf

The epilthet 'Furious fifties' refers to :
(1} Polar Winds (2) Monsoon
(3) Trade winds (4) Westerlies

frfor ‘g geTEr e gha B B 7

(1) & ganat H 2) WFAGT W
(3) =N a1t H (4) ogEn wavH! B

Which one of the following is not correct by matched ?
(1) Chinook - USA/Canada

(2) Brick filder Switzerland

(3) Bora - northern ltaly

(4) Btizzard - Poiar ares/Siberia

Prafefas # ¥ @@ gafea 8 & ?
(1} ferH - JUH.U. FAET
2] PBERthEET - Tgesy #vs

(3) & - S T l
(4) Fearsme - gEE &= gt

1

13 P.T.O.
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38. Tropical cyclones in China are especially called as :

{1} Harricane (2) Tornado
{(3) Typhoon : (4) Tropicalstorms
IoTeRfearein =eRaTal i A o TSN =Y ¥ o e Ay S 7
(1) o (2) II=ET
(3) wEgHA (4] IOTRfEEETT gET
39. Point out the region where maximum rainfall cceurs in winter
(1} 20°to 30° Lat, (2] 35° to 45° Lat.
(3) 43°to 70° Lat. (4) 5°to 20° Lat.

TH G391 (#F) F FHAS DA o1 sifemem awt sfi g 7 S
B

(1) 20° # 309 a7&yisT " (2)  33° § 450 3787isT

(3) 45° & 70° FFeqier (4) 507 20° a78qier

40. In the climatic classification by Koppen the letter 'B' stands for -
(1} Polar Climate
(2) Tropical humid climate
(3) Dryclimate
(4) Mid latitude cold humid climate

ﬁhmﬁﬁaﬁmﬁmmﬁmwﬁam'a'wth%?

(1) gda Searyg
(2) SwmEfEEdl wE SeEy
(3) SI=F weETg

(4) Ty aterieier oftg and BRI

14



41.

42.

43.

15P/207/30

In Biospher, plants are :

(1) Abiotic elements (2) Producers

(3) Consumers (4) Decomposers
Hramosw & 9F B 2

(1) FoIEE T (2} IeIE

(3) SUATRT (4) TETH

Who frst used the term ‘ecclogy’ ?

(1) Miwart (2) Hilayer

(3) Ernest Hackel (4) F. Darling
‘TR §TE% &l HET TEuyE fRes Bear Y

1y FrErd (2) fReET |
(3) STE EhA (4) OB, SR
Which is not related to the group ?

(1) Carbon cycle (2) ©Oxygen cycle
(3] Life cycle {4) Nitrogen cycle
F ot (TE) & weafam TE ¥ 7

(1) T TH (2) affefiwe =
(3) ofET = (4) SRS =%
Who divided the world into zoogeographical regions ?
(1} DBaker ) (2} Herbertson
(3] A.R Wallace (4) Spencer
Rray fagg = wiftr waeit # frefee B ?

(1) FHT (2) BEIEA

(3) Q.HT.GH (4 W

15 : P.T.O.
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45. Wild life species is a resource :

(1} Re-cyclable {2) In exhaustible

(3] Renewable (4} Exhaustible

99 Sig iy e daeE ¥ o

(1) gl (2) 27y

(3) “T=ETehg (4) BTEHT s&froTATOY
46. Which one is azonal soil ?

(1) Chernozem (2) Latorite

(3) Loess (4) Podzol

B ey gar (fred) ¥ ?

(1} STEATog (2) BT

(3) &g (4) QtswTE

47, Mark the vear of Montrial Protocol regarding Ozone depletion :

@ﬁﬂﬁﬂﬁw%mﬁ@m&mﬁmﬁﬂmmaﬁ
EIPIE'?-}':

(1) 1977 (2} 1987 = (3] 1997 {4) 2007
48. The most important 'green house gas' is :

(1) Cloroflurocarbon (2} Carbon-di - oxide

(3} Carbon monocoxide (4} Sulhplur-di-oxide

FaifF seaget eRame e b

(1) =TI 2) T = e

(3) HEA AT arraEs (4] WFT B oTHEEE

16



49.

51.

51.

16P/207/30

Who classified the contents of human geography into 3 major and 6
sub groups ?

(1} Blache (2] Demongeon

{3) Brunhes (4 D. Martone :
mgﬁaﬁﬁw—m@ﬁﬁmﬁswq&emﬁwﬁﬁﬂa?
(1) =T (2) FEwifet

(3) T 41 &1, AW

The propounder of Possibilism was :

(1) Rittar (2) Henry Baulig

(3) Blache (4) Ratzel

HeHEas S OO oo

(1) R ) Th e

(3) AT (4 S

Which navigator belonged to England ?
' (1) Magellan (2) Tasman

(3) Amerigo Vespucci {4) Jamescook

T Treveer gACS § Heigw o9 ¢

(1) e (2) TEAT

(3) e SagEnt (@) SEEE

Who first divided Geography into systematic and regional groups ?
{1) Hettner (2) Hartshorne

(3) Kant (4) Varenius
Tﬁaqﬁmqﬁnﬁﬁﬁaﬁﬁﬁaﬁqﬁﬁmﬁm?
(1) ¥ (2) EEE

(3) L (4) g

17 P.T.0.
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53.

54,

55.

Who propogated the idea of stop and go' determinism’ ?

(1) E.C. Sempie (2) Huntigton
(3) Ratzel (4} G. Taylor
‘Wﬁ‘raﬂ?weﬁ’ﬁqﬁaﬁmﬁaﬂ%a%ﬁm?
(1) €49 &ga (2) efeEq
(3) Yo (4) S 29

Name the author of the book - 'The land of Britan ' Its use and mis
use :

(1} John Fleure (2} L.D. Stamp

(3) Wooldridge (4) Chorley
‘ahmﬁq:maﬁmﬁm’-m%ﬁwww
YAy -

(1) 99 TgY (2) wa.dl. |

(3) gafts (4) M

G- Taylor divided the entire human races into .......... groups :
-2 7 weget A gt A L it /eat & ey
(1) 4 (2 6 @) 7 (4) 5

Indian races were divided into 6 groups by :

{1) B.S.Guha (2) A.C. Haddon

(3) H. Risley {4) J. H. Button

HRAT 9ol 6 1 F Fras amn ferarforr =t el ?

(1) .o\, T (2) .. Bew

3) u=m.ER (4) S.oH.Ew

18



57.

58.

59.

60.

15P/207/30

Which one of the following groups of tribes and- the habitats is correctly
matched ?

(1] Savana region - Bushmen (2) Congo Basion - Masai
(3) Malay Peninsula - Semang (4] Saudi Arab - Kirgoliz

ﬁﬂﬁlﬁaﬁaﬁaﬁﬁ@?ﬁ%mﬁ%%mﬁﬂeﬁﬂgﬁ%ﬁ
g7 |

(1) |&ErFT 929 - FIEA (2) = AT - AEE
(3) TE W& - HHIT (4) aIEr o - R
The largest tribal population reside in :

(1) M.P. (2} Maharashtra

(3) ©Odisha (4) Chhattisgarh
ey e T ¥ P Fed 8

(1) T H3el (2) FETISE

(3) Ntz | (4) BEETE

Name the tribes of Himachal Pradesh :

(1) Toda (2) Gaddis

(3) Tharus (4) Bhil

Feeare W9 #Y SN 1 AT SEEd

(1) st @) T

(3) =& (4) A=

Shifting agricuiture in Malaysia/Indonesia is known as :
(1) Jhuming agriculture (2) Chena

(3) Ladang {4) Milpa

19 P.T.O.
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61,

62,

63.

Hﬂﬁmﬁ“ﬁmﬁwmiﬁﬁﬁmﬁﬂﬁ{%:

(1) =RFT i (2)
{3) = : (4) Forear

As per census, 2011 the percentage of urban to total population in
India is :

mmu%m,waﬁ@mﬁwﬁwmw
T 7 |

(1) 23.31 (2) 27.81 (3) 26.13 4) 3116

On the basis of population size, Indian cities are divided into classes
numbering ;

%me AT & AR 9¢ AT 7 ..., T F i o
(1) 4 (2) 5 (3 6 (#) 8

The ancient town of Indus valley - Lothal is located in :

(1] Pakistan (2) Haryana
(3) Punjab (4) Gujarat
Ry ot &1 weit e dre @et R & 7
(1) afswmT & (2) sf=mor §
(3) Yo #H (4) e &
Average population size of villages are largest in :
(1) U.P. (2) Kerala
(3) W. Bengal (4) Bihar
Mt 1 afree wEET e wee Afem ¥
(1) Godto # (2) BT F
(3) Yo Ry F 4) fex &

20



65.

67.

68.
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Which is the oldest city ?

(1) Prayag - Allahabad (2) Mathura

(3) Kashi-Varanasi (4) Ayodhya
grefad T P g 7

(1) TIAFT- SEIEEE (@) T

(3) Fr-arreTE {4y STEET

Who propounded the theory of Agricultural location ?
(1) Philbrick (2} Walter Christalieer
(3 Von Thunen (4) Alfred Weber
Hfy oraftafa & fHET fred wiaifae Bear 7

(1) FrefsEs 2y awex fFEmT
3y A AT (4) ATBS AT

Which one is correctly matched ? _
(1) Mumbai - Jhuggi-Jhopadi (2} Chennai - Cheri

(3) Kanpur - Basti (4) Delhi - Ahata
i gRfaa 8 7

() FE - - (2 ¥ - 20
(3) HEYR - T @) R - s¥BE
The largest slum area - Dharavi is located in :.

(1) Kolkata () Chennai

(3) Mumbai (4) Delhi
Eﬂﬁﬁﬁﬂﬁ?{ﬁ}aﬁﬁ—mﬁmﬁﬂﬂ%?
(1) reTehre 2) %

(3) T=% 4) Tt

21 P.T.O.
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69. Who edited the book - ‘India - A Regional Geography' ?

70.

71,

7a.

(1) S.P. Chatterji {2) R.P. Mishra
(3) M. Shafi 4) R.L. Singh

‘g~ 31 Ry =Ty {mﬁ-wnﬁmﬁfﬂﬁ)wﬁiﬁ%
&R IR 9t wRf ?

(1) TH.§. g (2) Te.qt. Fysy

(3) @®. it (4) FR.uH. fHe

The year of nationalization of Suez canal by Egypt :

&ramﬁmstﬁéﬂﬁmﬁmmrﬂﬁ

(1) 1869 (2] 1956 (3} 1850 (4) 1900

The most important factor for localization of Cotton textile industry
has been :

(1} Raw material (2} Capital

(3) Labour (4) Market
Qgﬁma@w%wﬂaﬁw%ﬁ‘mﬂaﬁﬂ?ﬂgﬁmw%:
(1) == (2) goft

(3) HH (4) ST

Teaching and tfaining activities belong to the group :

(1) Secondery activities (2) Primery activitieg

(3) Tertiary activities (4) Quaternary activities
Pt oof mi¥merer wed Reg oof @ e & 7

(1) f&frrs fRmmi {2) weIfes fasand

(3) T fapand (4) agefs Beand

22



73.

74.

78.

76.
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Which region is considered to be thé holiest part of Himalayas ?

(1) Kumaun (2) Garhwal

(3) Himachal {4) Laddakh

B Fx RO @ GEY GigE |/E A SR B 7

(1) FFT (2) TR

(3) Fedr=m (4) =

Name the Scuthern most part of Andaman & Nicabar islands :

(1) Little Andaman (2) Indira point

(3) Little Nicobar (4) Great Nicobar
Wqﬁﬁﬂmﬁqﬂﬁa%mﬁaﬁwﬁwmwaﬂ@:
(1) Tafesr STosH (2) s @Ee

(3) Fafea R (4) Iz FRET

Three states a Jharkhand, Chhattisgarh, Uttarakhand (Uttaranchal)

were formed in the year :

ﬁqw—m,m’ﬁﬂw,m(ﬁmﬁr}ﬁma&aﬁ?
(1) 2000 2) 1999 (3) 1998 (4) 2001

The most commercially used coal is .

(1) Anthracite (2) Peat

(3) bituminous (4) Lignite

s w9 GI9 ST SgE S el FE ¥
(1) STFUERS (2] die

(3) FEgrFs (4) TR
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77. Which country is the largest importer of Iron ore ?

78.

(1) United Kingdom (2] Germany

(3) Canada (4) Japan

B 3N AEHTEH T TS w7 oNgHE B 7

(1) ZFAR2T Rersy (2) onfh

(3) HHIST (4] w9H

Today, the largest tin producer is :

{1) Malaysia (2) China

(3) Indonesia (4) Thailand

AT T 92T o Saugs 2 -

(1) =t | (2) ==

(3) ZvEARET (4) T

A summer trip to Europe would be called :

{1} Seasonal migration {2) Long period migration
(3) Short period migration - (4) Daily migration -
O WSTRAT giy =t A=y 8 e -

(1) Al s (2) drdfmEhe ST
(3) HAEFHRIT oy 4) 3P T

Sex ratio in India is calculated as ;
() No. of females per 100 males
{2} No. of males per 1000 females
(3) No. of females per 1000 males
{4} No. of males per 100 females
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82.
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| & Rimgea e sy § ot fear omer & 7
(1) @iy 100 g&ut 97 f&dt ot ey
(2) sfr 1000 It 9x guet & dem
(3) wfy 100C g&§T ¥ fedf =t demr
(4} o 100 Remt 9T gost A G=n

Mc Mahon line divides :

(1) India - Pakistan (2] India - Afghanistan

(3) India - China (4) [ndia - Bangla Desh

B A omgE (Ran) R st @

(1) T - GIeRE™ & (2) AT - AR
(3) WRE - S99 & (4) HRT - FFERY FH

Which is a wrong fact ?

{1) iIndia extends from 8% to 37%' N. Lat.

(2) IST is ahead of GMT by 5 hours 30 minutes
(3) Total land boundary is about 15,200 km.
(4] [Itcovers 3.8% area of the world

P TqT AT B ? .
(1) =¥ o AR 8% @ 37% IaTdl oieris o B

(2) W W ANE q§99 TFRE FE TER 8§ 562 20 e emt
3

| (3) |/ T WHT TTAT 15,200 &t B

(4) O8 [&9g & 3.8% T JATEWIET FLm &

2 5 : P.T I'ol
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83. Which is known as the Silicon valley of India ?

(1) Chennai (2] Bangluru

(3) Mumbal (4} Hyderabad
qreg & e Jh & =g ® B e S g 7
(1) =TS 2) Trg=

3) = (4) BETEE

84. North-East India consists of states numbering :

I 9 W # g e T # 7

(1) 5 (2 4 (3} & M) 7
85. Which part of Uttar Pradesh is called '‘Harit Pradesh’ ?
(1) Eastern U.P. (2) Bundelkhand
(3) Western U.P. (4} Central U.P.
TET HAST K1 e feww BT wRey aewrr @ 7
(1) T godio (2 FewEs
(3) uiFerdt godto {4} wEA gello
86. The most noterious river for its devastating coarse changing is :
(!} Ghagra (2) Gandak
{3) Kosi (4) Tista
S faeaeTs gem-wrl @ 959 $ R gud ge w9 R o
(1} == (2) TU=H
(3) =R (4) Teremm
87. Kaziranga Biosphere reserve is located in :
(1) M.P. {2} Meghalaya
(3] Assam (4) Andman & Nicobar island
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BT ‘arnfenay ad’ el staftaa & 7
(1) ==g masT (2} AETEE
(3) TEH (4] STvEHH-fRER fRrE

'‘Operation Flood' is associated with :
(1) Flood control

{2) White revolution

(3} Blue revolution

(4) Production of Surplus Food grains

‘IR e’ fFEY gges B 7
(1) =g g | (2) &9 wa @
(3) e wifa § (4) Hf¥w @rr= e 9

Who divided India into 12 major crop association regions based on
the deminant crop/crops ?

(1) R.L. Singh (2) Randhawa
(3) Jasbir Singh (4) M. Shafi

mwxwﬁ%wwﬁmﬁmaﬁwmamﬂﬁm
melt # fowaa fear ?

(1) HR.oa, e (2)  YemET

(3) THenY fEHe (4} TH. SR
The only developed country of Asia is :

(1] China (2] Japan

(3) India (4) Philipines
afdrar & o A e 39 R o

(1) == (2) T

(3) ¥HIg (4) Treif=a

27 P.T.O.



15P/207/30

91. In USA, where is silicon valiey located ?

(1) Texas (2) Masachusets
(3) California (4) New England
Hgea o9 oTAfr &, fafeet ¥l o Reaa & 7
(1) 2=ard {2) wErgaTE
@) SRt (4 = VS

92. The largest industrial region of Japan is :
(1) Qwanto industrial region
(2Y Kinki industria! region
{(3) Nagoya industrial region
{4) Kita - Kyushu industrial region

A T G q27 ofenfrs &= 2

(1) =FEmvdr Sirenfien uda 2) Rra hehfrs

(3) Tar ofeEnfer a2er (4) Teram-agsy ofenfes w2
93. Coffee is the most important cash crop of :

(1) Argentina (2) Indonesia

FH! AEE HEAYT GREIAA e §

(1) STH==TET (2) FoSHTEET

(3) @S (4) €= @l
94, Maya - Inca ceivlatars flourished in :

(1) Middie East Asia (2] South East Asia

(3) Latin America (4} N.W, Europe



95.

97.
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(1) ®ed g oiRmEr |7 (2) oo gF ofdwr F
(3) few T A (4} ToTo AT H

ASEAN- Association of South East Asian Nations was established in
the year :

Wq;iqu‘a‘aﬁ%wm (ToTHogoxoTTo) A TTa B o
8% 7

(1) 1960 (2) 1967 (3) 1970 (4} 1990

Vishakhapatnam Steel Plant takes the maximum advantage of
(1) proximity to raw materials (2) export operatiﬂhs
(3) modern technology (4) Sufficient labour force

memmm%:
(1) %= AT ol EgT 6 2) Pratas framett =
(@) g st @ (4) AT HAERT W

Which of the following standard minerals stands 8th on the scale of
hardness ?

(1) Diamond (2) Quartz
(3) Tak (4) Topaz

Rt wiee @yt # & HiF HoiLdr & 9% 9¥ 8dt TEdr
27

(1) & 2) =T@TESA
(3) F (4) ararst
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98,

99,

lml

When was The Survey of India set up ?

aﬁmﬁw{mﬁuwm}mWw?_
(1) 1792 (2) 1802 (3) 1767 {4) 1843

Monthly temperature rainfall ratio is shown an :

(1) Climograph (2) Hythergraph

(3} Combined line & Bargraph (4) Water Balance graph
Wit AT -ast & e qstiar o

(1) TS 937 (2) #amE g7

(3) HIHT WRA @& I WME gy (4) ART IFT O% gY

Who worked out 5 types of Population resource regions in the world 7

(1) Trewartha (2) Demco

(3} Clarke {4) Zelinsky
ﬁsﬂ%ﬁﬁﬁsaﬂﬁmﬁmﬁaﬁﬁmﬁaﬁm?
(1) famt C(2) 3R

(3) =T (@) st

101. Who said, 'population 8rows in geometric progression, while

Subsistence grows in arithmatical progression ;
(1) Robert Malthus {2) Natestein
(3) Carl Sander (4) Dalton
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TRy e Y, ‘ST S 5T | Sl & A9 Fded ||
(wrem=t ) iR =X | Fgd E Y

(1) = ARYH (2) SREH
(3) T TS (4} BEEd

102. Who said, ‘The geographical distribution of man depends upon climate
and weather more than on any cther factor’ :

{1) EC Semple (2) E. Huntington
(3) Blache (4) Brunhes

fRE e o1, HE H dreitees fawer B o= s B ge
¥ ety o Argw ux T PR BT 7

(1) .. S (2) §.sferes

{3y =T (4) g1

103. American farmstead is an examples of :

(1) Clustered settlc;nent {2) Composite settlement
(3) Isolated settlement (4} Fragmented settlement
sl wries (i 78) ... BT GEETT B

(1) gfTE ArEETE (2) Ty A=

(3) WERER SATEETH (4) svmfresw =gy

104. Morphology of rural Settlements in Ganga plain is generally :
(1) Linear ‘ (2} Oval
(3) Triangular (4} Square & rectangular
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w%%ﬁmmmﬁmﬁ#WM%:
(1) @ (2) HAYSHHIT |
(3} FBrgsmERT 4) T od SEEEHT

105, Which is the tributary of the river Ganga ?

(1) Chambal {2} DBetwa
{3) Son {4] Ken
T A€ H HEE A B 27
(1) o= (2) ST
(3) &= (4} B
106, For Quarter Degree or one-Inch map series, The metric scale (M.K.S.)
would be :
agE HA A 7 AR A9 (3) @ Rio , ARw @ 8 -
(1) 1:25,000 (2} 150,000
{3) 1:250,000 (4} 1:125, 000

W07.Concept of Sustainable development is based on ;
(1) Agenda 21 of the Earth Summit
(2) Human Development Index
(3) Brunt land Commission Report

(4) Basic Needs approach
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daeda (S gyd) Rem #t deeen B a3 sraria @ 7
(1) gt FHEF $ ST 21 X

(2) AT A gE@i T

@) Foedvs FET @ R w

(4) A AELEHAT IIFH 9T

108.Total population of a region = is a population density knwon as °
Total cultivable land of the region

(1) Arithmetic density (2) Physiological density
{3) Agricultura} density (4) Economic density

mﬂﬁﬁﬁﬁ'ﬂm=ﬁ?ﬂmﬁﬁﬂﬁwm%?
TRy #i A HY AP JH
(1) < g9 (2) @faE g9

(3) ¥ wAT (4) s T

109. National Atlas Organization (Now NATMO) was established under the
directorship of :

(1) RL Singh (2) George Kurien

(3} S.P. Chatterji ~ (4) Deshpandey

T AT Gree (" e} R Feem i gen -
(1) 7. ox. e (2) st HRUEA

(3) ww. b, = 4) 2w g
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110. The largest meat market of the world is :
(1) China (2) Brazil
(3) USA (4) Australia

fasg =1 999 597 79 S G 2o

(1) #F (2) &
(3) F.uH.Tu, - 4y smeferar
111. The most traded mineral in ore form is :
(1) Silver (2) Zinc
(3) Iron ore (4) Mica
SR Y A waller s e st & Ser § 7
(1) =ty (2) Tom- ()
(3) &8 FgEF [4) FAHE

112. Which is the largest non- conventional source of energy ?

(1] Solar Power (2} Tidal Power

(3] Nuclear Power | (4] Wind power
R-weERrE St W A9y s g §

(1} T v (2) SETT-wTET St Sl
(3) Hvfas S0 [4) 499 FAT

113, The statement - " high rainfall but ne standing water' holds pood to
the crop wheat :

(1) Sugarcane (2] Wheat
(3) tea (4) Rice
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FI - ‘T gyt g ot = seud 9 8-fFE wwe 9T @y e
g7

(1) = (2) g
(3) =4 {(4) 919 /<A

114. Petro-chemical industry has developed most is :

(1] Assam (2) Gujarat
(3] Andhra Pradesh (4) Tamilnadu
IEfeTm- e SET g wfts Bt gan B
(1} =@\ A (2) TErE H
(3) oIy mReT § © (4) afterg #
115, Which of the following does not belong to the group ?
(1) usa (2] UK
(3] Germany (4) Mexico
Frfefae & |5 =9 (39) oot a0 & watag =8 & 7
{1) g.uq.g. (2) 9.%.
(3) S (4) AfFT=R
116. Krivoi Rag coal field is located in :
(1} Russia {2} Ukran
(3} Ujbeckistan (4] Latvia
foraite TmT R A= et feg & 7
(1) == # 2 A A
(3) SHAfHwT= H (4) wrefEEr
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117.Iron ore producing Mesabi range is located in :

{1) Canada (2) USA

(3) Mexico - (4) Germany
g o/Es IaEs JaET A (39) w2t e & 2
(1} =T 2) g.@E.q.

(3) AfrEH (4) oA

118. Population pyramid illustrates :
{1) temporal growth of population
(2) spated distribution of population
(3] occcupational composition of population
(4) Age & Sex structure of population
SEEr iy ok 2
(1) Sy #i s afs
(2) EEEAT F e A
(3) THEEAT H HEANEE dIeH
(4) SrTEEAT @ oy R deEE

119, 'Garden city concept was developed by :

(1) L. Mumford (2) P. Geddes
(3) E.Howard (4) A.E. Smailes
‘IqETIE Heeuar fred @ Repfae & = ?
(1) u&r. qAHE 2) . =R,
@) 3. gEE (4) q.g. @
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120. Eucalyptus is a specific tree of :

(1} Indonesia (2) Australia
(3) Philippines (4] Malaysia
‘yEhfred’ w81 &1 fasy gw AT & ?

(1) FOSTHRET (2) omEferE
(3) MeRerd=g (4) W@

121. Liberalization Policy in India was adopted in the vear :

TRa ¥ SEET # Aifa e ad oroaE i v
(1) 1981 (2) 1991 (3 2001 (4) 1971

122. Mark out the country with a centrally planned economy :

{1} South Korea (2) Japan
(3] China (4) Egypt
Faiga AT stdermen g 29 @ e it -
(1) =Wt | (2) W9O™
(3) =@ (4) Tore

123.The river that separates Telangana {rom Royalseema is :
(1} Krishna {2} Kaveri
(3) Tungbhadra {4) Godawari
ITIAHHAT G ASETAT F AT HE-H A4 FHE & 7
(1) (2) s
(@) g {4) TIEH
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124.Which group of rivers originates in Tibet ?
(1} Brahmaputra - Sutlej - Jhelum
(2} Indus - Ravi - Sutlej
(3} Brahmaputra - Sutlej - Indus
(4) Indus - Jhelum - Brahmputra

afeat & g vt o ST R A B 7 |
(1) SEAYH- AT - FHeA (2) fay - wE - gaas
(3) FEAYA - qaersr - faeyg (4) Ty - Stem - sgugA

125.The state where women out number the men :
(i) Tamilnadu (2) Assam
(3) Karnatak (4) Keral

T STET Rt @ g geet g afas R

(1) dfferrg (2) 9H
(3] At (4) e

126.The strait of Gibralter connects ;
(1) Mediterranean sea and Black sea
(2) Mediterranean sea and Red sea
(3] Mediterranean sea and Atlantic ocean

(4) Mediterranean sea and sea of Marmaera
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127.'A country of farmers for forty centuries' is said to be :

(1) India (2) Egupt
(3} China {4) Greece
‘Treire grTEEET | HEe @ g9 BRE wEr oner € 7
(1) w1 (2) e
3y =+ (4) g
128.The famocus centre of pearl culture is ;
(1] Rameshwaram (2) Cochin
{3) Tuukoran (4} Puri
el e @i @Al b e BiE ofes d= E 7
(1) THsEH (2) FENT
(3) eI - (4) gf
129. Approximate height at which the geostationary satellites orbit the
Earth :
(1) 2500 Kms. (2) 1500 Kms.
(3) 1000 Kms. (4)y 35,000 K. 3s.
yfas Jume @ fra S O g=h & g e
(1) 2500 FFF=T (2) 1500 f&=T
(3) 1000 fFHT (4) 35,000 Reefr

130.Indonesian capital Jukarta is located in :
(1) Sumatra (2} Java
(3) Celebes (4] Borneo (Kalimantan)
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ISR # THYHT JHr et Rea B 7

(1) goem (2) Smar
(3) | (4) JFAT (FEimTe)
131. Core-periphery model of regional development was advanced by :
(1} Kuklinski ' (2) Walter Isard
(3} Richardson (4) J. Friedman
nRfEEs R = He-aRfy Afsw fred o Reefm T M & 7
(1) TGERTehr (2) e gaTd
(3) Fadas 4] . FrEHE
132, Who first propounded Growth pole theory ?
(1) Boudville (2) Perroux
(3) R.P. Mishra (4) K.V.Sundaram
e g7 fgerr 99 Bras ofrafRa By ¢
(1} I3 s (2) QT
(3) Y. fy 4] ®.8. gRH
133, The terminology - 'Cenurbation’ was coined by :
(1) R.E. Dickinson (2) A.E Smails
(3) L. Mumford (4) P. Geddes
Tl ‘HA RS aro W T (3EE =) v
(1) & §. R (2) <.g. @

(3) TS AAHE (4) 9. e
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134. Who developed concentric zone madel for urbangrowth ?

(1) C.D. Harris (2) Homer Hoyt
(3} E.W. Burgess {4} E.L. Ullman
T AEE @ wSE wve frary e Retng Pear ?
(1 @&, ;Ws (2) &Y BT
3) g. s=g. Ty {4) ¥. uw. SEmE
135, Name the soil which Swells when wet, develops crades whendry ;
(1} Laterite (2)  Alluvial
(3) Red {4} Black
Wﬁ?ﬂ%@ﬁ%éﬁﬁﬁﬁ%,ﬁﬁ%ﬁaﬂﬁ
ST -
(1) == (2) +Q
(3) wre faed (4) relt Predt
136, Which of the following is not correctly matched ?
(1) Coffee - Seed (2) Cotton - fruit
{3} Tea - leaf (4) Jute - flower
Prafefas & & B9 gifm 249t & 7
(1) = - i (2) I - B
{3) =T - gy (4) SE - B
137.The country which is not a millets producer is :
{1} China (2} Nigeria
{3) Ttaly (4) Pakistan
a8 21 5 fadew (S amTo ad o) w g T8 E -
(1) == (2) ATE=ifeET
{3 g {4) g™
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138. Which of the following is corretly matched e

(1) Argentina - Sao Paulo {(2) Mauritius - Port Louis
(3) Brazil - La plata (4) Bolivia - Bogota

Frg # A 99 gafia B 7

(1) aFSAfedr - |edl (2) W~ 9re gEq
(3) =lie- T 4) SifEfaar - S

139, Mark the vear when great Soviet Union was disintegrated ?

e dfgad oY & fAues & oad saRd
(1) 1994 (2) 1999 (3} 1991 (4) 2001

140. Which of the following has the highest Hydel power potential ?

(1) South America (2) Asia

(3) North America _ (4) Alrica

Ferrffe ® @ ET Siel TAgE aiftR STUTES Y weET HEE S

& 7

(1) =Rl sERE (2) afar

(3) Il AR (4) AT
141. Which of the fallowing is known as 'City of gold' ?

(1} Kimberley (2) Cape town

(3) Johanesburg (4) Pretoria

Prey § @ ‘oY & A | o ofen & 7

(1) P (2) 9T

(3) SheAEET (4) et
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142.Indian Pacific {trans Australia) Rail service connects Sydeny with :

(1) Cannbera (2) Alis spring
(3} Brisbane ' (4} Perth
;ﬁ?ﬂﬂ‘ HIT (U ATE ) Y Fan RSy L. T FHiedr
(1) &= (2) aiergREeT
(3} TerESs (4) ot
143.Mark the Capital of Newzealand 7
(1} Welington (2) Aukland
(3] Hamilton {4} ChristChurch
IoovE & ot e i
(1) IR (2) aTFRvs
(3) effees (4) T G
144.The Head Quarter of the World Trade Organization is located at :
(1) Rome (2) Geneva
(3) Paris (4) Helsinki
e AR Wew & eyt feg B 7
(1) T (2) e
(3) g (4) eerH
145.The most important water way is :
(1) North Atlantic Route (2] Pacific Oceanic Route
(3] Suez Canal Route (4) Panama Canal Route
H9H AEEget o "Et R
{1} It reaftes anf (2) HIT=T wETEEEE JEt
(3) wEITET "t (4) 99ET TET AR
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146. Which is the leading producer of cottan textiles ?

(1} USA " 2) Japan
(3) India (4) Egypt
7 S g ae TaeE aw R Y

(1) ZTE.T. {2) wwaE
(3) A @ e

147. Which country has the largest petroleum reserves ?
(1) Saudi Arab (2} Iran
{3y Imaq (4) Russia

mwﬂmm@ﬁmmgﬁmw%?
{1} THa | (2) &0
(3) ¥k 4) ©"

148.[n the study of economic geography, commodity approach comes with
in :
(1) Regional approach (2] Theoretical approach
(3) Systematic approach (4) Behavioural approach

aﬁ%gﬁa%amﬁﬂ,mmmﬂmmm
g7

(1) "RfdEs IUrH 2) H=ifxer SIEE
(3) HHEH FIOH (4) =ETER 9 SUCH
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149, The term 'Fourth world' was used for the countries :

(1) Highly deveicped (2) Least deveioped
(3] Developed (4) Deveioping
‘ﬂg#ﬁw’m_ﬁﬁa%ﬁ%ﬁmmﬁw?
(1} yof & § Rerfag (2) ~ITw Pl
(3) Py ‘ (4) Reprasi
180.J.C. weaver's method is related with :
(1) Cropping intensity (2] Crop rotation
(3) Crep combination (4) Cropping pattern
.. far A Rl Reed geafag 3 7 |
(1) 9% TrE-ar | (2) wET T
(3) 9 €O 9 {4) reEq OfgeT §
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ROUGH WORK
&
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ROUGH WORK
% T
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13,
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vafer & forg
(¥ GFARET & FET ST Y 4 wwy Ji-un & I et o
drer fief-wrel arer-wmyz 4 @ 0t o)
e ofierar e 3 10 e & <t & 2@ & fF wer § o 7o g ¥ sk
m@ﬁ%nmwwaﬁmﬁﬁwmmmﬁ&ﬁw
YA & gEd qfeE E = A
it v § forerer o miv-ox & aifen, o @t g St o g Fev A
g T e
397 05 @ @ ey mar i g @ 7 ot oy it 3 o e w31 g gwe-ow Tt e R
Fwer WY-aX BT B qEAIET wr o
AT SFEIE T I-OT N FHH T AE0-7S T F i we e
INT-F & AN TS O OF § I Sqww fratf w av e’ oy A fed gt w

e WY 3 mﬂ-wﬂmﬂmmgﬁmmmmﬂzmmmﬂm
o7 fordd

Sto e FMTe UN 4T FPERAIS wowWl, YFIGRAET TEw T Hz WO (WK =y ) mo
DYRGIEET W A ST e THo e O Wawy w Afafiwl ¥ sufvderr wf sy
T

m{wnﬁ&ﬂ#ﬁfﬁwﬁmﬁuqﬁﬂwmmmnmmn % Jyhnr
FE T G W A

vvr-giies & wetw ap7 & wv dwiew gwT @ i xvT & dwTeeE e &
Srewt SwT-ow & TR oy & A Ee v e 5t awe-oy & vew e v B md
A& s dv a mm e b

YA T § TR % 0 e ©F @ g9 S e &t 0F A fas gel @ e
T AT UF g9 I AU A W q® IR TG FA1 I

a7 & o uw w7 wmlt g siww awe w9 o7 w1 ol smy et o I
i & and &, 3t watver ofey % wR e 0@ awt e & st oy &1 4R S oY T
& 3w

% FH & g 79- R & JOUe & S ara 78 adr Se-yfEet & Sfm e
# W& FI

Tien & IGUT S A W ST FJ0T-OF T YN H I & 1

T gurd g & ggel TN AN & W 9 & e A
aﬁaﬁémmﬁaﬁamﬁmmmi Al a% firvafamey g freffe
gz Jya, Wl gmvEe



